<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

H

3
TP n (PCAto beamllne)

?11 ﬁgfmm'5;%;2

2 1 0 1 2

3

TP n (PCA to beamline)

+du

UbU HI:L,
DQM_V0001~R000000001 GI bI C SSW k PUS0L
—_— DQM VOOOl ROOOOOOOOl G: obal_CMSSW_s cm d05 RECO
DQM

|__CMSSW_scmod05+dup_RECO

PtQuad__RECO

...........................................

...........................................

.............................................

.............................................

.............................................

.............................................

S\ Pannsnannsny;

T 0 12

TP n (PCA to beamline)

2 3

= 100

IS
3

e}

v 40p
20fH]
0— .
o0l
a0l
ol

S gof
A
S 60f-

—-801-

.......................................

+11-

o100k i

s Zé i3t

o y 1l [
Mt

-3

3

TP n (PCA to beamline)



	Contents
	Page 1


